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LOGARITMOS 

Problema 120: 

Calcular, sin empleo de tablas, el logaritmo de la siguiente expresión:  

𝑥 =  
3,2ଷ · 0,64ହ

0,0125 · √80ଷర  

𝑙𝑜𝑔 2 = 0,301030 

Solución Problema 120:  

𝑥 =  
3,2ଷ · 0,64ହ

0,0125 · √80ଷర  

Tomamos logaritmos: 

𝑙𝑜𝑔𝑥 =  𝑙𝑜𝑔
3,2ଷ · 0,64ହ

0,0125 · √80ଷర =  𝑙𝑜𝑔
(
32
10

)ଷ · (
64

100
)ହ

125
10000

· 80
ଷ
ସ

= log [(
2ସ · 2

5 · 2
)ଷ · (

2ସ · 2ଶ

2ଶ · 5ଶ
)ହ] − log ቈ

5ଷ

2ସ · 5 · 5ଷ
· (2ସ · 5)

ଷ
ସ ቉ =  

= log ቈቆ
2ଵଶ

5ଷ
ቇ · ቆ

2ଶ଴

5ଵ଴
ቇ቉ − log ൤൬

1

2ସ · 5
൰ · (2ଷ · 5

ଷ
ସ)൨ = log ቆ

2ଵଶ

5ଷ
ቇ + 𝑙𝑜𝑔(

2ଶ଴

5ଵ଴
) − [log ൬

1

2ସ · 5
൰ + 𝑙𝑜𝑔(2ଷ · 5

ଷ
ସ)] = 

= log2ଵଶ − 𝑙𝑜𝑔5ଷ + log2ଶ଴ − 𝑙𝑜𝑔5ଵ଴ − [log 1 − log(2ସ · 5) + 𝑙𝑜𝑔2ଷ + 𝑙𝑜𝑔 5
ଷ
ସ] = 
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= log2ଵଶ − 𝑙𝑜𝑔5ଷ + log2ଶ଴ − 𝑙𝑜𝑔5ଵ଴ − {log 1 − [log 2ସ + 𝑙𝑜𝑔5] + 𝑙𝑜𝑔2ଷ + 𝑙𝑜𝑔 5
ଷ
ସ} = 

= log2ଵଶ − 𝑙𝑜𝑔5ଷ + log2ଶ଴ − 𝑙𝑜𝑔5ଵ଴ − log 1 + [log 2ସ + 𝑙𝑜𝑔5] − 𝑙𝑜𝑔2ଷ − 𝑙𝑜𝑔 5
ଷ
ସ = 

= log2ଵଶ − 𝑙𝑜𝑔5ଷ + log2ଶ଴ − 𝑙𝑜𝑔5ଵ଴ − log 1 + log 2ସ + 𝑙𝑜𝑔5 − 𝑙𝑜𝑔2ଷ − 𝑙𝑜𝑔 5
ଷ
ସ = 

= log2ଵଶ + log2ଶ଴ + log 2ସ − 𝑙𝑜𝑔2ଷ − 𝑙𝑜𝑔5ଷ − 𝑙𝑜𝑔5ଵ଴ −𝑙𝑜𝑔 5
ଷ
ସ +𝑙𝑜𝑔5 − log 1 = 

= 12 log2 + 20log2 + 4 log 2 − 3𝑙𝑜𝑔2 − 3𝑙𝑜𝑔5 − 10𝑙𝑜𝑔5 −
3

4
𝑙𝑜𝑔 5 +𝑙𝑜𝑔5 − log 1 = 

= 12 log2 + 20log2 + 4 log 2 − 3𝑙𝑜𝑔2 − 3𝑙𝑜𝑔5 − 10𝑙𝑜𝑔5 −
3

4
𝑙𝑜𝑔 5 +𝑙𝑜𝑔5 − log 1 = 33𝑙𝑜𝑔2 −

51

4
𝑙𝑜𝑔5 − 0 =  

= 33𝑙𝑜𝑔2 −
51

4
𝑙𝑜𝑔

10

2
= 33 log 2 −

51

4
( log 10 − 𝑙𝑜𝑔2) = 33 log 2 −

51

4
log 10 +

51

4
𝑙𝑜𝑔2 =

183

4
𝑙𝑜𝑔2 −

51

4
𝑙𝑜𝑔10 =   

183

4
· 0,301030 −

51

4
· 1 =

55,08849

4
−

51

4
=  

55,08849 − 51

4
=

4,08849

4
=  𝟏, 𝟎𝟐𝟐𝟏𝟐𝟐𝟓  

 

 

 

 


